9.8

4. fx)=e 2. flx)==2e2, f"(x)=(=2)2e 2. . fW(x)=(=2)"e .
f3y=eb. f3)=-2C f'3)=(-22%et .3 =(-2ye"
The required Taylor series is
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7. f(x)=cosx. f'(x)=—sinx. f"(x)=—cosx. f”(x)=sinx. [P (x)=cosx.
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First consider the series with even powers:
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similarly show that R = oo for the second series, so R = oo for the Taylor series as a whole.
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10. 2

Observe that y increases as 7 increases.

x =sech x? =sec’ @
17. a. =1 5 - From the
y=tan# y- =tan- @
identity sec? @ = 1 + tan? @, we obtain
12—}-2 =1l.x=1.
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10. 3

4. x = e2F1_j|; = Int = % = 22" and % = 1/t. The slope of the tangent line at r = 1 is
dy __ dy/dt _ i _ 1
dx =y dxjdt = 2eM|,—; 22
d 2 d (d
dx dy dy 612 dy @ 1
17.x=3.r2+11y=2:3=>—=5fand—*"=ﬁ:?-,sn—*‘=ﬁ=—=;and Y = (I)=__
di di dx % 6 dx? %J;; 61

fcinu Int
28 x = f du, y = f e" du. Using the Fundamental Theorem of Calculus, Part I, we have
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